Ursula Frayne Catholic College



YEAR TEN 2025

25 B54 10 B

ALL ORDERS MUST BE COMPLETED
Online at
www.campion.com.au
by
Friday 13th December 2024
Using "9YJJ" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be delivered by the 28th January 2025 for \$5.00, if placed on or before the return date of Friday 13th December 2024.

Orders placed after the return date will incur a late fee of up to \$12.00. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.



Please tick the items required in the box provided

√ı

Unit Item Item Qty Total Description Reqd Price \$ Amount \$ Office Use No. Read YEAR TEN Digital texts: Students can access their digital texts by logging into their MyConnect2 account after purchase. We strongly recommend using your school email address to log in before the school year begins. Further information on MyConnect2 and how to login to the students account can be found at: https://campion.com.au/find-my-school/ Digital texts are valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged for change your mind. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects. RELIGIOUS EDUCATION Come Follow Me Year 10 Cd Rom (Collected from College - paid in levy). P55492 Document Wallet FC Slimpick Blue 1 0.88 88.0 1 P50451 2 1 Exercise Book A4 96 Page 8mm with Margin Spirax #108 1.32 1.32 **ART** P58510 Eraser Plastic Pencil Large With Sleeve 3 1 0.32 0.32 P51685 4 Glue Stick 40gm Artline Clear 2 20 2 20 1 P56112 Marker Artline #220 Black 0.2mm 5 3.04 3.04 P56081 Marker Artline #200 Black 0 4mm 6 3.04 3.04 P56115 7 Marker Artline #210 Black 0.6mm 3.04 3.04 P52001 8 Pencil (2B) Goldfaber 0.52 0.52 P52013 9 Pencil (4B) Goldfaber 0.52 0.52 P51185 7.28 7 28 Pencils-Watercolour 12's Faber 10 1 P56243 Sharpener Pencil Metal Double Hole (HQ) 1 0.96 0.96 11 P51193 Visual Art Diary A4 120 Page Clear Cover 110gsm 12 8.24 8.24 **BUSINESS AND MONEY MATTERS** No text required. P55442 Display Book A4 20 Pocket Black Refillable 13 1 1.72 1.72 **BUSINESS SKILLS** No requirements. CHILDREN, FAMILY & THE COMMUNITY No text required. Please note this subject has a levy to cover the costs involved. **DRAMA** No requirements. **ENGLISH** P02915 Crucible, The (Modern Classics) [Arthur Miller] 20.69 20.69 14 P30974 Gathering, The [Isobelle Carmody] 15 17.99 17.99 **ENGLISH FUNDAMENTALS** P13987 Outsiders, The [S E Hinton] 16 17.99 17.99 P34726 Scar Town [Tristan Bancks] 17 1 16.19 16.19 **FASHION & DESIGN** No text required. Please note this subject has a levy to cover the costs involved. FOODS No text required. Please note this subject has a levy to cover the costs involved.

Page 2

No textbook required.

HEALTH & PHYSICAL EDUCATION

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	LILIMANITIES & SOCIAL SOIENOES					
D44070	HUMANITIES & SOCIAL SCIENCES					
P11072	Oxford Big Ideas WA Humanities & Soc Sci 10 (Print&Digital) [Saldais]	20	🖵	1	72.95	72.95
	PARENTS PLEASE NOTE: If you are purchasing a second hand print copy of please visit www.oxforddigital.com.au and follow the prompts to gain access to			ties & S	ocial Scier	ices 10,
	INFORMATION DIGITAL MEDIA TECHNOLOGY					
	No requirements.					
	JAPANESE		_			
P15534	Obento Supreme - Workbook (Print & Digital) 5E [Fisher et al]	21		1	44.96	44.96
	(Workbook must not contain any writing and should be purchased new)		_			
P00210	Oxford Beginners Japanese Dictionary (Jap-Eng-Jap) [Oxford] (Retain from Year 9)	22		1	27.86	27.86
P55442	Display Book A4 20 Pocket Black Refillable	23		2	1.72	3.44
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	24		1	1.72	1.72
	MATERIALS TECHNOLOGY					
	Clear safety glasses available from the College. No text required. Please note to	this sui	bject has a levy to	cover t	he costs ir	volved.
	MATHEMATICS 10 PRE-APPLICATIONS					
	Cambridge AC Essential Maths CORE Yr10		<u>Choose One</u>			
P18853	Cambridge AC Essential Maths CORE Yr10 (Print & Digital) [Greenwood et al - OR -	l] 28		1	72.95	72.95
EA20518	Cambridge AC Essential Maths CORE Yr10 (Digital API) - OR -	29	DIGITAL ITEM	1	59.95	59.95
ER20518	Cambridge AC Essential Maths CORE Yr10 (Dig Reactivation) Second Hand Textbook Required.	30	DIGITAL ITEM	1	29.95	29.95
	Please select carefully as NO refunds will be provided for change of mind or	accide	ental/incorrect pur	chase		
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	31		2	1.72	3.44
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	32	$\overline{\Box}$	1	281.95	281.95
P50271	Pencil (HB) Goldfaber	33	\Box	3	0.52	1.56
P56414	Ruler 300mm Plastic Clear	34		1	0.60	0.60
	MATHEMATICS 10 PRE-ESSENTIALS					
	Cambridge AC Essential Maths CORE Yr10		Choose One			
P18853	Cambridge AC Essential Maths CORE Yr10 (Print & Digital) [Greenwood et al	l] 38		1	72.95	72.95
EA20518	Cambridge AC Essential Maths CORE Yr10 (Digital API) - OR -	39	DIGITAL ITEM	1	59.95	59.95
ER20518	Cambridge AC Essential Maths CORE Yr10 (Dig Reactivation)	40	DIGITAL ITEM	1	29.95	29.95
	Second Hand Textbook Required. Please select carefully as NO refunds will be provided for change of mind or	accide	ental/incorrect pur	chase		
DEE150	Disable Deals A4 400 Deals On a Deals and White Co.	4.4			4.70	0.44
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	41		2	1.72	3.44
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	42		1	41.95	41.95
P56414	Ruler 300mm Plastic Clear	43		1	0.60	0.60
P50271	Pencil (HB) Goldfaber	44		3	0.52	1.56

Please tick the items required in the box provided \downarrow

 \checkmark

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATHEMATICS 10 PRE-METHODS / PRE-SPECIALIST					
	Cambridge AC Essential Maths Yr 10/10A 3E		Choose One			
P08299	Cambridge AC Essential Maths Yr 10/10A (Print & Digital) 3E [Greenwood et al] - OR -	48		1	72.95	72.95
EA20186	Cambridge AC Essential Maths Yr 10/10A (Digital API) 3E - OR -	49	DIGITAL ITEM	1	59.95	59.95
E20194	Cambridge AC Essential Maths Yr 10/10A (Dig Reactivation) 3E Second Hand Textbook Required. Please select carefully as NO refunds will be provided for change of mind or	50 accide	DIGITAL ITEM ental/incorrect pure	1 chase	29.95	29.95
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	51		2	1.72	3.44
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	52		1	281.95	281.95
P50271	Pencil (HB) Goldfaber	53		3	0.52	1.56
P56414	Ruler 300mm Plastic Clear	54		1	0.60	0.60
	MEDIA					
	No requirements.					
P50844	Memory Card MicroSDHC 16GB Class10 with SD Adaptor-NO RETURN	55		1	14.95	14.95
	OUTDOOR EDUCATION No textbook required. Please note this subject has a levy to cover the costs inv PRE HOSPITALITY CERTIFICATE No requirements.	olved.				
EA01482 P50140 P52000 P50451 P51591	SCIENCE College to charge for online subscription. Safety glasses to be purchased from College. Oxford WA Science 10 (Digital API) Binder A4 2D Ring 25mm PE Insert Black Calculator Casio Scientific FX-82AU Plus II 2E Exercise Book A4 96 Page 8mm with Margin Spirax #108 Ruler 300mm x 40mm Plastic Clear	57 58 59 60 61	DIGITAL ITEM	1 1 1 2 1	49.95 4.96 41.95 1.32 0.80	49.95 4.96 41.95 2.64 0.80
	SPORT SCIENCE No textbook required.					
	Number of Boxes ticked:					
	Postage (Home delivery only)		\$5.00	_		
	ESTIMATED AMOUNT DUE (PRICES CORRECT AT 12/11/24)		\$	_		